
Multiply by 0.01 (H)Find each product.
3.4 × 0.01 = 7.26 × 0.01 =
3.052 × 0.01 = 2 × 0.01 =
3.3347 × 0.01 = 9.378 × 0.01 =
3.9 × 0.01 = 1.8152 × 0.01 =
6 × 0.01 = 8.3 × 0.01 =
7.3751 × 0.01 = 7.2351 × 0.01 =
5.48 × 0.01 = 4.3916 × 0.01 =
4.51 × 0.01 = 4.021 × 0.01 =
5.1 × 0.01 = 8.667 × 0.01 =
1.8 × 0.01 = 6.29 × 0.01 =
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Multiply by 0.01 (H) AnswersFind each product.
3.4 × 0.01 = 0.034 7.26 × 0.01 = 0.0726
3.052 × 0.01 = 0.03052 2 × 0.01 = 0.02
3.3347 × 0.01 = 0.033347 9.378 × 0.01 = 0.09378
3.9 × 0.01 = 0.039 1.8152 × 0.01 = 0.018152
6 × 0.01 = 0.06 8.3 × 0.01 = 0.083
7.3751 × 0.01 = 0.073751 7.2351 × 0.01 = 0.072351
5.48 × 0.01 = 0.0548 4.3916 × 0.01 = 0.043916
4.51 × 0.01 = 0.0451 4.021 × 0.01 = 0.04021
5.1 × 0.01 = 0.051 8.667 × 0.01 = 0.08667
1.8 × 0.01 = 0.018 6.29 × 0.01 = 0.0629
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